ks, where applicable:

the blan - e
.t articles 1O fill 1in P gasaation
1 Choos€ the most appmpr:jﬂ v = e defﬁ 1
i |easure to dO B s =
It 1S _ P I
(A) X% the, an o "
C) aX% an
(E) Question not attempted k
. i fi1l in the blan |
st a yropriate option 0O . N s
2 ™ '{’Ithe class passed the examination conducted 11 the
B student 11 = ced
O éll (D) None
(C) Very

uestion not attempted |
il in writing a Notice? Choos¢ the correct opt101l-
' B) Time, date and place
o (D) Agenda of the meeting

(C) Minutes of the meeting
(E) Question not attempted

' i i ' ’ eries?
4 What number from the following options will come in place of 7 in the g1ven S

frnﬁaﬂﬁﬁﬁﬂ%@ﬂﬁﬁﬁﬁﬂqtﬁM? 3= oy U STTAT?

3, 15,35, 63, 2. 143
(B) 8l

D)y 92

5 After interchanging + and —; g and 7, which one of the following equation becomes correct?
+ 3 — I AT 8 aﬂwﬁmwﬁ%mﬁmﬁrﬁaﬁﬁﬂaﬁqmmﬁéﬂw
(A) g T+3%x5=31 (B) T7x8+6—-9=25
(C) 6+8x2-7=0 (D) 8x2+7-6=9
(E) Question not attempted / A 94
6 A certain sum of money amounts to X 7.464 after 4 years and ¥ 29,856 after 8 years on compound interest.
The value of sum 1s:

o Fifera R, SATE ST U 4 61 6 A1 T 7,464 3T 8 ST % 18 2 29,856 B ST &, Y TAURT 0 T 8
(A) 3,732 (B) 1,866

(C) <933 (D) 37,320

(E)  Question not attempted / aﬂﬂﬂﬁ a4

7 ’: bag contains coins of 50 paisa, 25 paisa and 10 paisa only. The ratio of number of coins of 50 paisa
> paisa, and 10 paisa is 5:8:3, If Ins 1 :

. .8:3. If all the coins in the bag amounts to X 144 :
25 paisa in the bag are: then the number of coins of

UF 4 # Faw 50 4@, 25 4 3w 10 49 3 fyaen 81 50 ¥, 25 T8 3 10 T F fyent Y w1 39 5:8:3

819 9 8 o ferrail a7 144 8, oY A 3 25 At & Rt < T €N - J
o 80 (B) 240 | _
= (D) 280
(E)  Question not attempted / 37gafta sy 2
R15] &8 . I L
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the most 4Ppropriate statements about h

uman _insulin.
a. Human 1nsulin

1S made up of two short 'plolypeptide chains.

b. Two chains are A and B chains.
Two chains are ¢ and Y chains.
d. Pro-hormoha! i
0 mcontams €Xtra stretch of C-peptide. L)
€. C-peptide ispresent bet \O
Chooms e seants E? ctween two chains in mature form of human insulingy
ppropn;re answer from the options given below &)
(A) a,cande only B O
- - (B) a,bande only
(' a, band d only LS D) a.b.d o,
| » 0, dand e only Tg'
(E)  Question not atteﬁi’ﬁted -
m@%@ﬁmmmwwﬁﬁq -
. WMI g ﬁ .ﬁ@ﬁﬁﬁ&qasgai@maﬁmw@m?ﬂ 1)
b. A dEwTE ASI B shwet \0
c. R dEATE GBI Y st \O
d. T T (SEmt) § ¢ -ﬁ%waﬁrﬂﬁmfgwﬁm% %
e m-mgﬁmﬁ%mﬁmmﬁmﬁ%ﬂﬁm&wﬁm%l ™
qﬁ%ﬁqﬂnﬁmf@rwgfﬁmmwaﬁ ' L
(A) a—ﬁ?-ra,caﬁ'{e (B) hacTa b3 e d
C 3
(C) oadra,baikd 0 (D) wada, b, d3ite
(E) Suaiaduy T ol
: :
9 Select the bacterial speqifg% useful as single cell protein (SCP). @
(A) Spirulina :H (B)  Methylophilus methylotropiitls
(C) Trichoderma po{){ggomm (D) Monascus purpureus :{3
(E) Question not attempted
Wsﬂamwrﬁrwwlﬁmsﬁw#ﬁm% (SCP) o feTu 3uaiy )
LN
(A) e T (B)  HATESiIHTET ez eg,
(C) zrewreaf ngz (D)  HHIEHT Wyl g
(E) Jqmiayg  (pn WO
-l am
Ty P . i
10  Select the seeds that are.100% pure and their bag is tagged using golden yellow coloyr-4-
(A) Nucleous seeds (B) Certified seeds
(C) Foundation seedsi() (D) Breeder seeds L)
| LO \0
(E) Question not attepllgled \O

< Sftsit o < ST S100% I 1 & SR Sk ST ot ear et an o 1 vy v
(4) et S o (T i b
(C) MU (FISSI) A R
(E) Aquiayd v

RIS] a2 3 . [ P.T.O.
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Read the passage carefully and answer the questions that follow:- (Q. 11 to 15)

Asthma is a respiratory disorder that we have known about for hundreds of years. However, there is
still no cure although drugs, such as steroids, and inhalers can alleviate the symptoms of an asthmatic attack

and there is still no known cause. Worryingly, the number of people who suffer from asthma is Increasing
rapidly. In some countries in the world the disease is becoming more like an epidemic.

Because of the huge increase in the number of cases in the last 30 years, there is a widespread feeling
that some kind of lifestyle change is to blame. Since asthma is a disease which impairs breathing, many

researchers have thought that a reduction in air quality might have caused the increase in it. However, it is

now thought that although the pollution in the atmosphere might exacerbate the condition, it is unlikely to be
the cause of 1t.

For a considerable time, household dust mites were thought to be a possible cause of the condition, but
attempts to keep these to a minimum have not reduced the numbers of asthmatic sufferers. Far from it.

Now researchers are looking at diet to find the culprit. The period over which asthma has increased
dramatically in some countries coincides with a period when there have been major changes in diet in
countries which have seen the highest rates of increase. It was first thought that some kind of dietary allergy
might be a major factor.

At the moment, researchers looking for a dietary trigger for asthma are considering whether a lack of
antioxidants could be responsible. Their possible protective powers have been much discussed in connection
with other diseases. Now, doctors are wondering if a diet rich in things known to contain high levels of

antioxidants, such as fruit and vegetables, would prevent asthma, especially if such a diet was followed by
pregnant women.

Meanwhile, the schoolbags of more and more children contain an inhaler as well as books and
notebooks. Something at school could trigger an attack and they must be prepared.

11 The use of steroids and inhalers for asthma is to:
(A) healit (B) relieve it

(C) cureit (D) intensify it
(E) Question not attempted

12 For a long time it was believed that although one of the following mi
it is unlikely to be the cause of it:
(A) anunhealthy lifestyle (B)
(C) insufficient exercise (D)
(E) Question not attempted

ght exacerbate the condition (asthma),

the poor air quality
wrong dietary habits

13 Identify the statement which focuses on the newest possible cause of asthmatic attack:
(A) The pollution in the atmosphere probably exacerbates the condition. |
(B) Household dust mites were thought to trigger the attack.
(C) A dietdeficient in antioxidants may be responsible for the condition.

(D) Dietary allergies might be a major factor,
(E) Question notattempted

14 Wwhich of the followIng is not likely to trigger an asthmatic attack?

A) Cigaretle i (B) Dust mites
( +s and vegetables . '
(C) Frul "ot attempted (D) Air pollution

(E) QueStiOn
Ri5] 3 [ P.T.O.
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15  Match List-1 with List-II
List-I1 (Words)

a alleviate
b. 1mpairs

C exacerbate
d. rapidly

List-II (Antonyms)
I. assuage

II.  aggravate

III.  leisurely

IV. repairs

Choose the most appropriate answer from the options given below:

(A) a-Lb-Ic-1I,d-1V
C) a-NLb-1V,c-1,d-1I
(E)  Question not attempted

(B) a-ILb-1V,c-1,d-III
(D) a-IV,b-I,c-1IId-III

16 The concept of ‘Directive Principles of State Policy’ in Indian Constitution was borrowed from

(A) German Constitution
(C) Japanese Constitution
(E)  Question not attempted

(B) Irish Constitution
(D) American Constitution

NI Fleu™ 3 57 & Hify Frdsres Rigial £t sygamor | s R
(A) S Hfeum B) At @iam
(C) SNM & wiqum (D) mfER & giaym
(E) 3ruiawy
17 The Rising Rajasthan Global Investment Summit 2024 is being organised in
(A) Jodhpur (B) Ajmer
(C) Bikaner - (D) Jaipur

(E) Question not attempted

Uﬁwm@aﬁﬁéﬁﬁzqﬁzzommm

4 fer
(A) SR B) 3R g
3 (B)
(C) & (D) AR
(E) 3 ufayy

18  The diameter of a garden roller is 2.8m and its len

much area will it cover in 5 minutes?
(A) 1760 m?
(C) 1860 m?

(E)  Question not attempted

* -

gth is 4m. If it takes 5 revolutions in 30 seconds, then how

@wwmmzsmaaﬂt?iamw%mﬁﬂmomﬁsm
N 'ﬁm%sﬁ5ﬁ"‘?ﬁaﬁﬁmr
(A) 1760 Hiez? (B) 1440 Hier?
(C) 1860 Hizr? (D) 1540 w2
(E) = A4 2 "‘Eﬂ"
2.4 B . 2 -—--"‘C
19 '3T+'3-!—+':7T+ ...... 1s equal to - y'L‘Z_ ;__—-\T -+ Lxs"#‘f13)’1’
2 "y d o
R T S — ixz  Sewydriz
(A) EI _(B) 2
(51 S (D) e?
(E) uestion not attempted / TR ¥4
RIS] % Q 10n not attempte .

[ P.T.O.
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20  The perimeter of an isosceles triangle* 1S 322cm and leflgth of each of the equal sides is g times of the length
of base. What is the half of the area (in cm ) of the triangle?

e

Th .
AT mmgﬁﬁzﬁ)wa‘?

Erarer 61 afETT 32 ST & ST ek T SIS Al TS AT AT THars —56— T 31 s

a%%qa‘lﬁagﬁﬁﬁwmaﬁrmﬁ

o B) 42 4
(&) 38 q (B) L0
© 48 (g (D) 24 L0
(E)  Questignnot attempted / Hﬂ:ﬁﬂ?[ 94 8)“)
21 If12boysor }@girls can do a certain work in 14 days, then in how many dTQSis will 8 boys and 16 girls do the
same work? |
7t 12 Treh v 18 Tefat et et ot 14 fom & R wRd €, 1 8
et # gty
(A) 7 (B) 9
C) 11 (D) 13
) Questibiinot atempted / S 4 &
22 Which two sigfis should be interchanged in the following equation to maké-it correct?
20+5+20x8-20538 h
(A) +and &0 (B) —and+ (£
(C) +and »~i (D) —and + v
(E) Questibninot attempted L)
retfRifRae e B ardh s 36 fore et i & 21 el s i e St
20+5+20x8-20=38 _
(A) + 3 x _(B) -3+ )
(C) =+3MA) D) -3+
(€) Faf o O
23 ‘TEme F At faws - @
(A) FE+ 318 B) FE+TE
(C) mrcr+@§ (D) I+FEE |r)
(E) STFaNd i
24 Digilocker is a flagship initiative of which Ministry? 9 |
(A) Ministry of Education (B) Ministry of Finance
(C) Ministfy of Electronics and IT (D) Ministry of Cqmynerce and Industry
(E) Ques not at;grmpted s kcg
Cofires 4. qereT |
(A)  faran gy i (B) WudwE O
(C)  zAFI{gd Ud 318 < HATCTY (D) mﬁwmmwmmm
E)  wrafa g v
25  Wherejs Rajgthan Atomic Power Station located?
Choose the pyogy appropriate option from below: Te
(A) Sura (B) Baran 'O
(C) Jodhp (D) Rawatbhata ()
(E) Qucstieﬂ nhot attempted ® )
TIGI'F?;% F I%%Ha;gf fraae? 'i:
oy q@al) i (B) @ L)
(A) gaaer v

(C) MH * (D)

[P.T.O.
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» which is not the key vision areg of Digital India Programme?

(E) SJaia I
97 Which Gf. the following statement is not correct about alluvial soil in Rajasthan?
(A) This soil is found in northern and eastern districts of Rajasthan.
(B) Itis light brown red in colour and has a sandy and loamy texture.
(C) Itis a fertile soil.
(D) This soil contains enough quantity of nitrogen.
(E) Question not attempted
TSI | STAIg HaT o IR | (efaiiad 3 § shiH-87 o get 78t 82
(A) I€ 4T USRI o ot U gai fSiedl 7 91E STt 2
(B)  EHT T oo YU AT & SR SHHT 713 SIS GHE &l
(C) I U IS HaT 2l ,
(D) 39 9T & ATSSISIA <h GATH HTAT Blell &1
(E) S1aia
'8 Tropical thorny forest is found in which of the following regions of Rajasthan?
Choose the most appropriate option from below: |
(A) Udaipur (B) Jaisalmer
(C) Baran (D) Kot
(E)  Question not attempted , . .
e e o, TrereT 3 Pt &  f aer I e S ¥
1 & & garg g fases 94
(A) m'g'( = (B) ST
E)  srafaug
9 . : ing place of Rajasthan?
" - h of the following p
(:;}lﬂyaf lake” is situated in whiC B) Udaipur
Bikaner (D) Churu
€)  Ajmer
() ' Question not attempted : i feora 29
o e———— P LU AR e
(A) e ;

Choose the most appropriate option from below:

(A) Digital Infrastructure as a core utility to every citizen
(B) Governance and service on demand

(C) Digital empowerment of citizens

(D) Promotion of behavioural changes of citizens

(E) Question not attempted

F a1 “fefsieet sfean e a5y -

e & & HaH 3Ug fasey 3 Y o e &

(A) I TR o FoT T Swifirer 3 v et afiardt i
(B) T S A 3T femi (i ot et it )

[ P.T.O.

Scanne d with CamScanner



U

.

£ U

30 Pointing towards a girl in the picture, Sunita said, “She is the mother of Neelam and Neelam’s father ;

31

32

33

34

35

son”. How is Sunita related to the girl in the picture? Ty
(A) Daughter (B) Niece )

(C) Sister tg (D) Mother - in - Lawkg

(E) Question nagtattempted (e

T, T ek TR T ST SRR L G AT 3 e, “aE AT ohl 7 Sl ﬁtﬁm%ﬁamﬁigﬁﬂlm
%Hmaﬁaﬂtﬁﬁ%ﬁﬁﬁaﬁm%? Te \
GV G (B)  wisf/ st S

C) & o (D) @™ o

(E) 3Tgaia w

If ‘PARK” is coded as ‘5394, ‘SHIRT’ is coded as ‘17698" and ‘PANDIT s coded ‘532068" then hoy,
would “NISHAR{be coded in that code language? \O
Ii¢ ‘PARK’ a%‘r 5394°, ‘SHIRT’ & ‘17698’ 31K ‘PANDIT’ Y *532068° HITS&/ AT SITT 2 A ‘NISHAR’ #
I i Wﬁﬂ%ﬁa%mwm oy

0 pARU S HIRT PAVIT

A) 261739 B) 200789 a9 1qe9 @ ST20C
(©) 231954 gy (D) 266734 ) -
(E)  Question notiattempted / AN T .
Find tl}e missing number (?) in the Table:
2feret o W W () I -

L
\O
W0
&)
\D
(B) 16 E
| (D) 20 et
(E)  Question not attempted / STxfd
Choose the mos{appropriate English word for the o
given word:
shdwr (O o
Eg transgress"& l (B) transcription A\
transc.ont nta (D) transfigure .}
(E)  Question p_g)f attempted \O
v
Choose the mm‘%glﬁﬂb[e word to complete the sentence given: L)
A person who settles disputes/disagreements is known as an ~
(A by e
(C) Altrujst (B)  Arbitrator
) Anarchjsi{) (D) Asceti
: hist, o3 scetic )
(E) Question Qﬂ attempted \D
Choose the ) o
¢ mu.s'gjpmprium word opposite in meaning to: O)
CHIVALROUS v
(A) Gallant l'ﬂ (B) Discourteous I‘..I-")
(C) Defiant (D) Brave v

(E) Question not attempted

RI5] S£ 8 [ P.T.O.
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h h ed the Rajasthan Governmen : .o within a 1 km
iphery O riti . : t to shut 68 eratin 1
peripne f the ¢ tlt':@ tiger habitat of which tiger reserve? u mines Op 2

. ' L)
Eé; g;lr?ierIfgff lIE{ :e‘lger — (B)  Ranthambore Tiger ReSérve
serve ' AN
(E) Question not ¢ ‘ 1pted (D) Ramgarh Vishdhari T@r Reserve
gatred =TT 3

UE'EFW Eae] L :
wﬁﬁﬁwmwﬁm%ﬁ ma‘“q'm%%ﬁ“@mm%lfﬁrﬁaéﬁmﬁraﬁﬁﬁs
(A) OISR IR R

L0)
(B) Tl T fiard
(C) WG TR g r
o e (D) T frerdt erg frord
. .. W) Ty
37 By ‘*}’hl‘_?h constitutiodalamendment, the Urban Local Self Government was given thgstatus of a Constitutional
Institution? 0o O
(A) 44" Constitutibhal Amendment (B) 74" Constitutional Afiendment
Gy 73™ Constitutidtal Amendment (D) 42" Constitutional Aténdment
(E) Question not pted v
forer Tauiren Seme gt wedt S e s waunfe g w et T T "‘3
(A)  A4di HaHTH G (B) 74at gaenfies i
(C) 73 HauTieh e (D) 42ai Gaenfaes GeieA
(E) gaia A L) _ "
38 Panchayati Rajisa %tem of: ; \$)
Choose the most apgsqprmte option from below: S )
(A) Local Governgnent (B) Local Administrationy ¢4
(C) Local Self Goveérnment (D) Rural Local Self Govgrnment
(E) Question not hffempted L)
rEiorikis R R o B D oo i
freferfaa § & gad Iugw® ey 9. -
(A) T TR (B) UM IImEA
(C) T T (D)  TTHIOT T TITE L'g
(B) FEfayd S 0

39  Choose the word mo§P3imilar in meaning to the underlined word in the sentence()
The acerbic remarks 3fthe boss were unwarranted as she had put in a lot of effort in Preparing the presentation.

(A) whimsical i (B) bitf'er_ ;3
(C) appreciative L0) (D) childish -
(E) Question not aﬁ:‘mpted
40 Choose the word most similar in meaning to SPURIOUS from the options given:
(A) soiled Te (B) inces-sant )
(C) unauthentic (O (D) considerate O
(E) Question not agtempted o
i ' ' ‘VLSI’ chip (32bit) 1s used? #)
41 In Wthl‘-l generation @mcropmcessor chip (( - it) Sle :;:d =
o THs . (D) Fourtl 1
Thlrd rth
E(E:; Question not alt'p pted t‘r‘)-l
mresRaraeT i e 7 «oft uer @ a1’ fod (32 fre) wh 3w o mar 9
(A) ¥aH B) fadfm
© T (D) <Y
(E) Aqaia 54 9
R15] &8

[ P.T.O.
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42 Which of the following is a

(B) Power point

(A) Excel (D) Tinux
(C) MS word
attempted
(E) Question not a ] 2
fArfafad o ﬁq#r a7 R giedat B
(A) TR (Excel) D) ﬁ E
(C) WAGEE
(F) aRd ¥4
43 In Rajasthan, inserting a gold nail in the middle of the teeth by a woman is calle(-.
(A) Damna (B) Borlzzt
(C) Choonp (D) Baari

(E)  Question not attempted

TS o, foredt nfee gro eiat & st g ot el ST ShedTaT &-

(A) AT

44 On which date second stage Raj

(A) 17" March 1948
(C) 18" Apri] 1943
(E)  Question not attempted

(D) 30" March 1949

TSI /Y (Fd T ey
: I
ﬁqﬁmmﬁ%ﬁ@wﬁm%&rﬁmﬁ§w
(A) 1791 1943 o
Eg)) 18 3737 1943 (B) 257t 1943
EREEGS D) 3097 1949
45 Accordip
2102011 ¢ .
A) Bigy “0sus, which of he follo ing dist
©)  Barme, H1Cts of Rajasthan has the lowest population -
(E) Question p, ) Jaisalmer
2011 “q':mmrm;;t Allempteg (D) Paj
Eg) a‘]'i,‘ﬁ'{ 'EIEII’C%&%W%% ‘
) iy S 3 et e ey 27
§ 2¢O (B -
. At gy ) St
Whig, O the 1, (D) Tt
(AJ M{JUSE UIIUWing IS an Out
((IC ; Spea, . e
) Quey;
e e o Kevboua
(A) HI34 A2y fy Joystick
(C) v LY
(E)  31afid uy
RI1S| g8 Eg) hlars
) Shfiey

Scanne d with CamScanner




47 1 PB (Petabyte) is equal {' ()
(A) 1024 TB (Terabyteb (B) 1024 Bytes :g
(C) 1024 MB (Megabyte) (D) 1024 GB (Gigabyte) ()
(E) Question not attem'ﬁed -—
| i <t (derese) R r] 10)
(A) 1024 3L &t (& ens?:) l (B) 1024 915ZH i
(C) 1024 T+t (rrrree) (D) 1024 Sfi sft (fimrese)
(E) TR us -

48  Which of the fUllOWlngQSpreadsheet is a method of arranging the data in asccndlﬂgg descending ordt;r K
(A) Filter Lo (B) Sorting N
(C) Auto Sum ﬁ“ 1 (D) Logical operator e

(E) Question not attem};')ted

frfefad ﬁﬁaﬁqmtﬁ?&ﬂzﬁ@aﬁ SRS AT mﬂﬁmﬁmﬁmmﬁﬁ@ﬁ%ﬁ |

(A) e il (B) ®ifém v
(C) ArEm (D) TR AT
(E) STIaRd A "
49  When the primary tributgges of a river flow parallel to each other and secondary tributaries join them at right
angles, the pattern is knqwn as : :',,;12
(A) Trellis w; (B) Centripetal 'o.ﬂ
(C) Radial (D) Dendritic vl

(E) Question not attem te Ts
SERCECED] um%q’vgﬂmqﬁm Teh UL oh FAMTR sred BY o7 fedffr were Afegly3ad SHehIv o Hed!

&I, 1 3T TR T ST -

(A) SITAIAT (B) AT
(C) 3™ Ty (D) FAHH S
(E) 3Tdia I o -
- Lg I |
50 Which one of the following water bodies separates the Andaman Islands from the N@bar Islands?

(A) Gulf of Mannar 3 (B) 5° (*ﬁannel o
(C) 10° Channel LY (D) Arabian sea Ve

(E) Question not attep_qted v
Erfrfiga o & SI-AT S [, AT E19 AT T (eI E19 THE | 3T HidT 82

(A) HARH Tl (B) 5° et

(C) 10°=Td Ve (D) 3TH MR lé;’

(E) A 94 e 0

51  Post- Independence of lgqm how many states of Rajputana (Present Rajasthan) W@elevated towards the

Indian Union?

R k= GECIC I mm)ﬁmﬁhm%ﬂmﬂwﬁwﬁaﬁv
Choose the most appm te optmn from below —

g aaad wgm -
(A) 17 (B) 18

©) 19 (D) 20

(E) Question not attempted / Gﬂﬂﬂ'ﬂ b L | .

11

R15] 36 [ P.T.O.
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52

55

‘pPPP’ in terms of Gross Product stands for

asing Power Parity

(A) Purch (D) Public Partner Price

(C) purchasing Power Price
' attempted
(E) Question nol.a
et e b et & ot o T 7Y ¢:-
(A) =4 vifts grar(Purchasing Power Parity) '
(B) JEEIECAREL ot rfEri(Public Private Partnership)

(C) #d ﬂf?ﬁﬂc@(Purchasing Power Price) )
(D) i YITGR {eA(Public Partner Price)

(E) aqaﬁﬂ‘c[ i

Which of the following is not an exothermic reaction?

(A) Formation of slaked lime on addition of water to lime

(B) Burning of natural gas

(C) Respiration

(D) Decomposition of calcium carbonate to calcium oxide and carbon dioxide
(E)  Question not attempted

Which of the following is not an 5
(A) Diamond
(C)  Fullerene (B) Hydrocarbon

(E) Question not attempted (D) Graphite

alyst form fats. This is
Substitution reaction
Oxidation reaction

(B) Public Private Partﬂership

an example Of/
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56 prefefaa 7 g forflaa wss 2-
a. @F’H
b FfT
C. RIS
d.  wHEl
e.  THIS
frr e e faredt ® © waifaes Iug™ ST AT

(A) et a, b3 ¢
(C) Hadb,d 3R e
(E) AR "

57 fr=fafed # ye fafad e =-
(A) HUA S EHT 9T gl
(C) |WHT I

59  Which Indian player won Bronze medal in the R2 Women’s 10m Air Rifle SH1 event at the Paralympics,

dufeifies, 2024 # R2 AT 10 HIZX TR UTHT

(E) AIORd 94
58 o f AT T o et 31 -
(A) T A g T
(C) it ¥ A=l
(B) TJaia ud
2024.
(A) Mona Agarwal
(C) Bhagyashree Jadhav
(E) Question not attempted
(A) HHET ATETA
(C) Tt STaa
(E) 3Tdia 94

sH1 Taat & forg yreT RaarEt 3 siex ugeh ST ?

(B)
(D)

(B)
(D)

(B)
(D)

aa_clﬁa,ci'&ﬂ'{e
a’:‘ﬂﬁb,caﬂ'(d

IR S TS B FhaT ¢l
qH Fo G Bl

20T ASHT
EEERUEaC])

(B) Avni Lekhara
(D) Deepthi Jeevanji
(B) A oiEq

(D) <ifw Sfa=si!

60 ‘VAIBHAV’ Fellowship Programme is implemented by which Department of Government of India?

(A) Department of Science & Technology (B) Department of Social Justice
(C) Department of Economic Affairs (D) Department of Revenue.
ion not attempted
(g‘zﬁ ﬁwﬁﬁTchuesm FTAHH mém%%aﬁvmmmﬁﬂ%mw
(A) Torgm wd el fom (B) QTN =T favm
(C) e arer r famt (D) T fawm
(E) AJaia 94

61 Babool, Khair and Khejri species 0

Choose the most appropriate option from below:

(A) Montane forest (B) Tf‘OpiCﬂl Thorny forest
(C) Tropical Evergreen forest (D) Lattoral and Swamp forest
' t attempted ' _
ot i e et s 2 g Pt 4 e e e
frer & & wad I9geh faded I: | |
(A) TddE T (B) SwiaEfsiy widar ax
(C) SwrhfeaHd HEer (D) T T Toreelt g
(E) 3qia 94 "
R15] 98

f trees are found in which of the following forest lands?

[ P.T.O.
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L)
0 :

. £}
in which of the fUllOWII‘Ig %tﬁ € of Inq:
‘Sholas’ are found 1n W ¥, Ndiy?
62 The temperaégorests called ‘Sho (B) Rajasthan 3
(A)  Punjaly (D) Tamil Nady &)
(C) Odishd£ =
(E) Questirl not attempted | 1?[ Eﬂﬁ _%? !.!"]
*ﬂaT*W:i%ﬁ“’amﬁm%ﬁﬂﬁﬁ&W% T T H g =
A) (B) US¥MH
(E) Nﬁﬁ@a Ve
© | oy A
63 Which of théfollowing statement s most appropriate about the Hlmalayanmlvers?
(A) Nature bt flow is seasonal and dependent on monsoon rainfal]. e
(B) Catch{g-'ejnt area 1s very large. L6Y
(C)  Their pldce of origin is plateau. pe<f
(D)  They flow through the fixed course with well-adjusted valleys.
(E)  Question not attempted o
%mﬁ#ﬁfﬂ%ﬁﬁﬁw%%aﬁﬁﬁq—mwmm%? Utgj
(A) m@wﬁr ﬁw%ﬁnmaﬁmﬁv&wﬁ% O
(B)  SemRma sga aery 65y
©) FHSremEry WO
D) awqmawmm&ﬁmgﬁmmﬁﬁagﬁ .,
(E) Hg?n‘gﬁ,srar L
64 Which of the following view shows Margins and the rylergo
(4) Re‘”e{”\g (B)  Page Setup m
(C) Page Layout R (>
| (D) Normal Viey
(E) Quest@; not attempted gi
Fretforfiae i Sy ]
(A) f=g (Iﬁirm:)é"EﬁEr SRR 3 on (Rulers JEARH I O
©€) U gnﬂ:fi (Page Layouy) " ﬁfr (Pag?‘;%’etup )
€) sy D) T Normai) g
65 Which 4mong the followin
g keys ig d :
Hugagy maﬁ?ﬁyml:gr Chechng Srfammar apg Spelling in M.S. Word?
*) ¥ & et " 50 S5 7 e P o 29
©€) F5 ¢y (B) F3 T
(E) :ﬁ (D) F7 8)
Question no altempte / TR gy O
66  Choose the moj, “appropriate Word to cop, [ 19
I was delighteq Piete the Blven sent
———— the pregey, Ou pg e a
(A) from gave ¢ my Cliremeny
(C) with (B)  abouy
(E)  Question not attempyeq D) for
R15 ] St 14




67 Choose the most appropriate word from the options to complete the givcn sentence.
Despite her illness, she insisted going to work as she had plenty of pending work.
(A) on (B) in
€) for (D) to
(E) Question not attempted

68

Which one among the following is not a salient feature of the Indian Constitution?
Choose the most appropriate option from below:

(A) Lengthiest Written Constitution (B)
(C) Integrated and Independent Judiciary (D)
(E)  Question not attempted

mﬁﬁﬁmwmﬁ@g@%ﬁwﬁ%

Dual Citizenship

Universal Adult Franchise

Freforftad & @ o sugw foeea o
(A) G99 dar1 faftaa g (B)  gredt Arianar
(C) UhIshd R a1 =TT (D) GThiIfieR = AaTf¥en
(E) AqaRaysd
69  When was the ‘Agnipath Yojna’ introduced by the Government of India?
(A) 15 July 2021 (B) 14 August 2021
(C) 14 June 2022 (D) 14 August 2022

(E) Question not attempted
WA TERR ERT AT AISHT el 7% hl T3 o

(A) 153 2021 (B) 14 37T 2021
(C) 14572022 (D) 14 37T 2022
(E) IIqaiayHd

70 In Rajasthan, what is the amount payable every month to unemployed educated girls under ‘Mukhyamantri
Yuva Sambal Yojna’ ?
ST TS 7 “qEaa=t JaT aret FeHr o agd siierTrR fRifard sforersit st sfarre foraet afir 3 @2

Choose the most appropriate option from below:

fore §f & wad Iug fashed IH:
(A) < 3,000 (B) ¥ 3,500
(C) 4,000 (D) T 4,500

(E) Question not attempted / I 94

71 Which of the following projects of Rajasthan provides hydroelectric power?
(A) Mahi Bajaj Sagar Dam (P» Jawai Dam
(C) Swaroop Sagar Dam (D) Uchha Dam
(E) Question not attempted

A £ frefafaa #§ @ @ ot afaismr safaga aid 9@ Fd {2

(A) HTE IS AUR Ay (B) STaTg sy
(C) &I GIR Y (D) JarsNY
(E) 3¥gaid s "
R15] 38 g [ P.T.O.
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b Yot : 1s called ~
72 The literature which is engraved on inscriptions, COINS and seals 1 _lite

Choose the most appropriate option from below: - wp——e
(A) ,Eolk o
(C) g%?;gional (D) deltm:?.i
(E) ‘Question not attempted Ve
agm%é’w“raqﬁé@‘rfﬁaaﬁmg%ﬁmﬁ%@m% __ e Sheetrar &
fore ¥ 0 wad Iugs fashed I )
A (D) ST v
©) Ty
(E) 3Taia u ]
73 ‘Langliiya song’ is related to which god/goddess?
(A) tjgen Mata (B) Kaila Dﬂlijr
(©) d%mtu Shyam (D) Shree Maliaveer
(E) 'Question not attempted \O
SR fe Serandh & weiRm 27 =
&) S (B) el Seft ey
(C©) TWRrREm (D) it HErEiEd)
(E) 7aia ™ v~}
74 Whoégjisciple was Dhanna?
(A) (Kabir B) Pipa L)
(C) CRamanand (D) Dadu DACLI
(E) \ uestion not attempted %g
U1 [EenT {3y 9 S * )
(A) ST WO
(E) 3ufa g ) 3@@1&3
e
7S Which pne is the correct lens formula?
(Here ‘g’:‘nbols have their usua] meaning) Te
T R g \3
e :
(A) .71, " .1; L1 %
H ]
B g 1 1
1 Y 1
(E é D) o 1y ]
) | :w;P tstion not attem ) v j = -IT

(A) B3L2x105
(C) 64x107T
(E) Question not llempy

RI15] §¢

ed / aﬂaﬂa o

{
\@‘5 Tesla, and angle of

D
FRSSSSSSSS mﬁaﬂ“\gﬂﬁwm%lwmﬂ
(3) 1.6 x 10’#3"}[-
D) 12,
8 % 1‘.......! T
16

fature

dipis "

qﬂaqﬁﬁﬁ

L
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Which mirror will show a wide area view?

77
A) Plane mlrrf:}r (B) Concave mirror
(C) Conw?x mirror (D) Parabolic mirror
(E) Question notfattempted
WehTX o SUUT oh 99 .
(A) H”E'Z&ml o) (B) 7dder guor 153
(C) Sdd L (D) U g0y €5
(E) SART w5y v Ty
L v
78  Choose the odd one-6ut from the given options. £
few e foreredt # & aveTa forerew ot =g - ri
(A) (11, 143) g (B) (7,67)
© G,35) W (D) (13, 195) L£)
(E) Question noﬁttempted / Eﬂﬁ'ﬂﬁ‘srﬂ :g
79  Pinki scored more than Rakesh. Yami scored as much as Dimple and Lalita scored lei%zghan Manju. Rakesh
scored more than ?:?%i and Manju scored less than Dimple. Who scored the least amqig the given persons?
(A) Rakesh 4 ¢ AR (B) Lalita 5 Ly
(C) Yami R 7P, L (D) Manju YD ™
(E) Question not attempted T-
: T 3 ke & 3frsh; Yok s o 21reft 3 Fesvorer 3 syt ik arferar 3 wisy & e sieh wiw fofm 2rdker 3 et & a1feres
o STy fevrer & g 31 STH o) S @ ot et e i e v O
(A) kT ) _(B) wfeqar \O
(C) o g | (D) = @
(E) 3gaRa s~ o
80 frafafaa i facid sdl i TETd T 2- ,ﬁ
(A) Gd -dseH (B) TJTEX - §TH
(C) TaiaT - a=y, (D) fafer - fader
(E) SAqaia IO LY
\D . \O
81 ST Wfdfe T&TaT B89 AT o o Toh 1< &- e
(A) FeeErt W (B) W=® O
(C) wmfem (D) fedhiat O
(E) aia a4 al :f:
gy fam=fafiad # gl 97 & 3favid el 3Tdl- !
(A) FrE oA (B) 9fgx
(C) A :f' ) (D)  STTEHIR
(E) &#aid 94 g . ti‘ )
83 If m and n are the ?ats of the equation x* + px + ¢ = 0, then what is m? + n* equal to%o)
ﬂﬁmaﬁTH;xz+p&q=OHIﬁaT{Waﬁtﬁ%ﬁnﬁ+nzﬁ'fﬂaﬁl'(mt§‘? C?\
(A) P’*29 |pn (B)  p*+q i
(C) P°-29 o (D)  p*—yq :;i
(E) Question not attempted / 3TAIE 9% r“:
R15] 98 17
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84  Ajay invested a total amount of ¥ 10,000 in two types of investments. The

simple interest 6% per annum and the second part of investment on 10% per a

VeSt
ANum, ¢ the ¢, Men ,

end of one year is 7“A:+pcr annum at simple interest, then the amount invested ip cach ; ]int%y‘ﬂdsf
LEIEENEIECH Rt Y m%’srﬁ‘xaﬁﬁatﬁummmqt%m%,aﬂt@aﬁ%ﬁiﬁaﬁg@?ﬁmém
ST TR R0, ) e o T
(A)  T7500; T 2500 (B) 70005 3000 ”'
(C) T 7300: T 2700 (D) % 6250;% 3750
(E) " Question not attempted / TTAI T4
85 ﬁmﬁ‘ﬁi‘gﬁﬁaﬁqw*mgﬁwqﬁ%?
(A)  wyd B) HT
(€) wid (D) =
(E) 17afa uy
86 IFW wee N fafea syt
(A) 39 (B)
©) 3 (D)) s
(E) Irufawy
8T EEHIF I A i i, i
T (719
N -1 (Tt
b w L g
. ug L
d. fuz ML 9=
A1 Fow ey e 4 % niy
E|Beacunes
(A) a-lV,b-]",c_H d-1 ™ WEETQ
C - »
EF; a-lLb-MLc.1v 4.1 (BD) a-1IV,b-1L, c-T1, d -1
A uy D) a-Lbemcomy g-1v
88 Frerfafas i
1
®) a3
©) fai“ (B) 3w
(E) st uy D) fig
89 Which of the 2IVEN ont:
. Plions will .
H9 fau T Will complera :
. Wfﬁ’ﬂﬁﬁ T fau ‘lll,a*qplm the given Series?
oo Eleligfeiigfeiy o T a?“i“aim
ghe LF W einsi
(C) ifige ' B) i
(E)  Question not attempyeq ; - Ub) l_g o
18 4
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19! 3{}
L) ~:..§.,i._!
figure fro ' ich wi - L) roblem
90 Select a figure @‘m amongst the options which will continue the series established by the four p
figures. Y | *E.E
ﬁqﬂqﬁmfﬁs@aﬂ%wwﬁa}wwa@ﬁﬁmwﬁa ot sy ST TEfl?
Problem ﬁgureﬂuflﬂw ﬂ'@ﬁl‘ﬂ‘f : ol ¢

-4

i
50
£
L5

Lo

. T .,‘z

(B) ATy
o ¢4
(D) 3 14y
X2

(E) Questio@ot attempted / Bilfljrﬁ?r B m
Y X2
91  Which of the following is not a space mission launched by ISRO? w»i
(A) Chandré?%an (B) Mangalyaan !ﬁ
itya-L 1, (D) Space-shuttle programme
(C) Aditya I;_lg

(E) Question not attempted

7 3 & %1 T SER (ISRO) FRT Sl ke T Sfafer forer 1t 22 T

(B) W Ts

(A) T=IAF % * .

(©) mi%aerg (D) 3iafer sed W{@Hm
(E) 3Taia 9% 8;;
> o} 2

92  The main functién of a GPS system 1s:
(A) Weather?éjrecasting
(C) Satellite !iraaging
(E) Question not attempted
. di. ©@ (GPS) WoTTeh %1 §&T i ©:-

(B) Navigation and pb’é}tioning

(D) Space exploration

ip
(A) e qEtEE () e (Afe) 3 Refe et e
(C) 39uE AT (D)  iafer arawor Lo
(E) rgafaad B
o) A |
93 The name of global satellite-based navigation system dcvelope‘d by the Umtqd‘:ﬁstates IS
(A) GPS T (B) Galileo o :
L) (D) GLONASS  °

(C) BeiDou

B) Tffer (Galileo)
a1 (Bei Dou) (D) TEFE(Glonass)

(B) rgaia "

RI5] 98 [ P.T.O.
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Select the Francis Hary Compton Crick’s Ph. D. thesis title-

94 B hitckiomn -
(A) X-ray diffraction: polypeptides and proteins (B) X-ra?f dlffractu?n. nucleic acids
(C) Transformation in Streptococcus pneumania (D) Semiconservative DNA rep]
(E) Question not attempted
wpiferd ot Shrae foheh & s, < miy 3 sitdes o = hifsTT: -
(A) X=X fevhaam: fﬁ?ﬂ%ﬁamgqrg A= B) X iiga‘m':‘: 1T Ufrg
(C) M iy =qmifar (D) Wi O e ey
(E) TTxRa wex
95  2Mg+O,—>2MgO
In above chemical reaction, the Magnesium metal 1s :
(A) Reduced > (B) Oxidised
(C) Dissociated (D) Displaced
(E) Question not attempted
2Mg+0,—>2MgO
mﬁm%ﬁﬂﬁmﬁmaﬁ%mﬁ,?ﬁiﬁmﬂ@ T ol
(A) Iq=aRE (B) ATatehd
C) i (D) o
(E) Igai@wy
96  Blood groups in human population is an example of
(2) Co-‘demmance (B) Incomplete dominance
(©) Ple“’n_’ﬂpy (D)  Aneuploidy
(E)  Question not attempted
T:w%ﬁﬁnw 6T T AT
98 - IYIfaar
(B) 19t waqrfera
. i (D)  7gTIfvTaT
(E) Sraf@uy =
97 (f;l;ld ﬂ; incorrect match from the following:
ephantiasis - W malayi
(C)  Pneumonia-E histolyticg (i) A.IDS-Retrovirus
(E)  Question not attempted o ning worm-Epidermophyton
mﬁaﬁ?m?ﬁ%mw%:
(A) =rdigrg (Qf%]ﬁ;ﬁqﬁ;rq)_ TS, T
C) Tt e B)  Tew (AIDS) - e
(E) gy (D) oTS (T 3wy - Uy higEaT
98  Which one of he followin
(A)  AIDS B 1S not a viral disease?
(C) Dengue (B) Typhoiq
(E) Question not attempted (D) Inﬂ“enzﬂ
(A) TEH (AIDS) il
©) 3T (B)  TFrre
(E) AIOitd 94 (D) RITS
R15] $8
20
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g9 Which of the following text is composed by Jambhoji?
(A)  Mukam (B)  Vishnoi Dharmaprakash
(C) Amavsya of Falgun (D)  Alakh Niranjan
(E)  Question not attempted |
A9 g @ (Text) SISt gRy R &9
(A) TH™ (B) farsis enfyeprer
(C) IR AT HF (D) @ e
(E) uRawy
100 Who was the first person to cal that region ‘Rajputana’, which is now known as Rajasthan?
(A) George Abraham (B) George Thomas
(C) George Alexander (D) George Tod
(E)  Question not attempted
I & I TSI 83 AT o = fen 0 9 Ry A TSTEATT T STaT 27
(A) SISt 3TsTRH (B) it oy
(C) SIS Taasiet (D) S
(E) gaftawy
101 Which of the following statement is/are true?
a. Metal oxides are acidic in nature.
b. Non-metallic oxides are basic in nature
Select the most appropriate answer from given options:
(A) Onlya (B) Bothaandb
(C) Onlyb (D) Neitheranorb
(E) Question not attempted
9 4 9 1 9178 ST 9 /8-
5. HTd o ATFTES, THiT | e g &
b. 37U & IiedTEe, Yhfa ¥ &y B &
e fw 71w fareredt & @ waifas sugw st gf;
(A) e (B) JHTa3iRb
©) Faab (D) HTa3IRATEb
(B) IIqdia g4
102 A greenish coating that develops on copper utensils on being exposed to moist air is due to the formation of
(A) Copper oxide (B)  Copper carbonate
(C) Copper sulphate (D)  Copper nitrate
(E) Question not attempted
dfel 3 1 bl TR - A A GAT @AW & & 0T 3 & T IeqeT Y St 2
(A) I Ch | 28] A (B) EF;:"[EI'[ EACIEry
(C) I e ' (D) WW
() STgaa e 21
R15] 98
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L)

n components ofi £§ttol are -

103 The mal | (B) 2-3% solution of 10dine in éfé%hol
1C |
(A) chloramplfemcol EglyCero (D) Chloroxylenol and Terpene%b’itlz
(C) 0.2% solution of Pc%nol L
(E) Question not altelqESCd ':g
. 15 P - S _ A
%aﬁa?ﬂ@ﬁée S ,% q 1[“‘(1 (B) Ueehrerer § ATAEH T 2-3% T
o i D) FeiirEeRTe T et
©) R 0.2% ()
(E) TTaia w1
N '\
104 What is the minimum quétum required for a Gram Sabha meetlng under the Panchayatff-Raj system?
(A) One fourth ‘\Q (B) One sixth i’;'f“s
(C) One eighth % (D) One tenth Lo
(E)  Question not attempted 1,...;
YT T ST 3 RaT BT Y e o ToTq STTavaeh =[AdH shiTd T 87 ‘;’Z
(A) T v (B) Tadi W :
(C) ATEST I (D) EdT 9T
(E) Qa9 _
= Ty 1y
| \0 Xs
105 Which one is not an initiative under “Skill India Campaign”? O
Choose the most apprapﬁate option from below: h
(A) Pradhan Mantri K‘ﬁ%hal Kendr 1y
‘ _ i a (B) Pradhan Mantri Jan Arogyﬁ' ojna
(€)  Skill Saathi Coungelling Scheme (D) Industrial Training Institutes
(E) Question not atterapted St tf};
"R M AR % 7 1 o Tee T 29
FH 5 @ Ha8 39 e o
(A) TUHGE e o ‘ e
(C) WWW D) TR S SR WO
B) sufawg (D) TNt wRiawr weom i
\D Y
106 Which of the followine I O
(A)  Wheat : F_’i‘“t 4 Rabi crop in Rajasthan? v
(C) Mustard (B) Barley ﬂ
(E) Q;estiﬁn not attempteq (D) Rice
UEL2Ie ﬁqﬁiﬁg-a ﬁ %
) i Al 4
©) 0 @ @ L
(E) qafragy V)
\O D)  <mEm \&
o o)
107 ‘fo=2z’ 1 afy fawiya 40 O
(A) fa:+92 ™~ 1‘;41
(C) dt+ag
(E) Safayy " 9 é
RI5] gp D) o 435
22 [ P,Tro
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108 e & i sgshfe cmmer o gargon et 22

(A) 9EHA (B)  <IsRYToT
(C) Histehs (D) Fraf
(E) Iqaiauy
109 SIE’ ¥ FHF-97 gHg 9
(A) a?gw (B) rudivmE
C) % (D) a7
(E) IaRauy
110 Match List-I with List-IT
List-1 (Characters) List-II (Contrasting Traits)
a. Flower color I. Green/ yellow
b. Pod color IL. Violet/white
C. Seed shape III.  Round/wrinkled
d. Pod shape IV. Inflated/ constricted
TEfl-1 &l Welt-11 & gafera Hifve -
A *-1 (ﬁﬁmﬂr) Teft-I1 (farreft 7qom)
a. I L e
b. waATTm .  Sriases
c. SR . e /gder
d. %l I&HR Iv. qﬁﬁgs‘/%ﬁgé

Choose the most appropriate answer from the options given below:

H fRe e foeredt 7 @ waffaes sugw s i

(A) a-ILb-ILc-IV,d-III (B)
(C) a-Lb-Mc-MLd-IV (D)
(E) Question not attempted / 3TTANRT IX

111 The Thalassemia gene is present on

( A) XX of 23rd pair of chromosomes (B) XY of 23rd pair of chromosomes
(C) anautosome (D) mitochondrial DNA

(E) Question not attempted

dadifaar S . Q@ IURRYT BT e

(A) 233 U ST & XX (B) 233 TRET S 6 XY

(C) u AT I (i) (D) WIERrwHifgaT € wy v

(E) qaitaya4

a-H:b'I,C'IH,d-W
a-Lb-II,c-1V,d-1III

112 Which of the following printer is noiseless, high speed and of high quality?

(A) Typewnter (B)
(C) Inkjet printer (D)
(E) Question not attempted

Dot-matrix Printer
Laser Printer

Frefaftaa # @ @ a1 v faey; wafa ded, 3o nfa st sea yorasr qrer ay

(A) TrEIUEH (B)  €lenfoewy fijay
(C) FH9e (D) A fifar
(E) q4a
23
R15] 38
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113 Which function key isused to edit cell contents in spreadsheet?

cresie # A FRTH 3 mm%mmmﬁﬁmmmmﬁg
(o) FS )

(B) F2 O
\O )
(C) F6 gl (D) F8 O
(E) Question not atlg‘mpted/aﬂﬁftaﬁﬂ : o
™ Ty

114 A manis facing North - West. He turns 90° in the clockwise direction and theri*‘TtBS“ in the anticlockwise

direction.Which directioh is he facing now?

(A)  East O (B) South Lf)
(C) North o) (D) West Lt
(E)  Question not attke‘a-lpted Y
R S 3 I-9f3m B e fove gt &1 e afbromard et aresn # 000 AR G T (Wit
TS TR H 135° et a1 e forer e v s e &7 Ty
(A) (B) afdfor v
C) W Tg' (D) ufsm
(E) 3raiawsy tc% : g

115 32 students are sittidg™in a row facing towards North. If Nehal is 14t

from thﬁ“ eft end then what is her
position from right e{‘&%

W
32 Toremeft I Y i e gT v O 3 43 2 o eer e o 14%w1=rqtl_*§a‘rm@mar%ﬁiﬁtﬁ
T2 o
(A) 17 Ve (B) 18 _
_(C) 19 O | (D) 20
(E) Question not at[éﬁapted / aﬁ?rﬂ?rsm @
- O
116 Arrange the following@ords as

per the English dictionary and find the second word:

stirst sz 3 arqa; e rfRer i AT e v R
charity, carton, caravan;icardigan :};
(A) _Carton (B) Caravan v
(C) Charity P) Cardigan
(E)  Question not atl(‘?}pted / ﬂjﬂfi’aﬁﬂ' 3

\0 |

117 The remains of Ganesﬁkgrar civilization are found at which place in Rajasthan? tg
(A) Bhilwara —t (B) Neem ka Thana Uy
(C) Udaipur L) (D) Hanumangarh 0
(E) Question not alteﬁlpled .
ﬂmmﬁmmﬁﬁ%ﬂwmmﬁﬂﬁﬁ? 12
(A) Hftearer (B) vy
(C) 3L (D) ¥"MTg
(E) Ha?lﬁ?f q4d

R15] 98 -

[ P.T.O.

Scanne d with CamScanner



118 Who was the founder of the Chauh

an Dynasty of Ranthambhore?
n from below o

Choose the most appropriate optio
(A) Govind Raj¥

(C)  Prithviraj ll:'[ (B) Hammir

(E)  Question :;gt attempted vy Vo N L0)
A) T O)
L) (B) ®HIR O
©) TR - i O A
(E) 17aia s L)
-
119 Match List-I wit List-I1
Lis:tg (Folk art) | List-II (Material)
a.  Kayad L  Paper O
. Phadj II. Colour \O
g, Paané _ III. Cloth i
d. MaHdana V. W \O
: ood 3
-1 0 -1 W g hifdre 10
-1 (FTTeh hedT) qef-11 (@) v
a.  FdE, L W
b O II. @
c. URD M. 9T tg
d i IV. el 0
Choose the mas%% propriate answer from the options given below: ®)
H= kg g 4 ¥ gaifae 3ugw S 9T : O
(A) a-IV,b- Il c-Ld-II (B) a-ILb-Ic-IV.d-II
(C) a-Lb-T,c-MLd-IV (D) a-III,b-Iv,c-ﬁd-I
(E) Question not attempted / STTANT T4
£

120 wwmﬁ%ﬁmqm%ﬁqﬁ%ﬁﬂw%%@mmﬁrmﬁﬁmmmﬁm
(A) zﬁffﬁﬁg B) omde e tg

(C) 3T&H [%] (D) weHe foram -
(E) SATAd 94 o
121 g1 gh-11_§ gafera i : v~
a1 (3ASAT & AR Teh] 155) get-11 (ﬁﬁwnﬁvjﬂ;m)

a. ABRIDGE - Z- I aﬂtﬁzvr

b. AI{TBEXURE =7 11, "Ta?mvr

c. AMENDMENT— Y L. Heh tg

d. ARPROVAL — ) IV, @naa v
2y faw wTa Feredy # & wrarfferas Jug IU gAY O
(A) a-ILb- c-1V,d-1 (B) a-IV,b-Lc-NDd-1I
(C) a-T,b-IM,c-1II,d-1 (D) n-lll,b-l[,c-%d_l
(E) Wgﬂ 4

- [ P.T.O.
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122 ° Acknowledgement” <hT Tt st gnm-

qrardl
(C) feriva
(E) 3FIAia ¥

123 Inatriangle ABC, AB = BC and length of AC is /2 times the length of AB. If the perimeter of AARe .
(14 +7 \/E ) cm, then the area of AABC is - : _
@ BhW ABC %, AB = BC 3t AC #i @, AB 1 wwg & /2 T R & AABC 37 g
(14+7 y2)¥A. R, & AABC w7 8ser & -

49

(A) 59 cm? B) aad
1D

(C) 69 cm? D) g e

(E)  Question not attempted / SFFRa 7%

124 If PQ || RS, then find the value of a + b + ¢
< PQ || RS, T a + b + ¢ T 91 ITd Ft

¢ O
P

. R

(A) 180° (B) 270°

(C) 360° (D) 280°

(E)  Question not attempted / TR I

125  What is the full form of “EEPROM**?

(A) Electronically Erasable Pro

grammable Read - Only - Memo
(B)  Electrically Erasable Programmable Reaq - Only - Memoryry
(C) Erasable Electrically Process Read - Onl

(D) Electrically Erasable Pro

(E)  Question not attempted
“EEPROM” %1 quf % 2.

Y - Memory
grammable Read - Memory

(E)  #qdf uy
126 Which

(A)w 2‘5:]31223 b:.en declared ag (he ‘National Space Day’ in Ind

7US ’ 4y 1 Indjg?
(C) 25 August (B) 23 August
(E)  Question pot attem () 27 Aio

pted Ugust
(A) 20 g%mﬁﬁmﬁ T stfeey faay N gt ey
(C) 25 37T (B) 23 sy
(E) rafta 94 D) 27 sy
R15] 38



127 Match List-I with List-II
List-I (Indian player)

. ‘ List-II (As:
a. Mirabai Chanu 1. Gymnas(ticssmdmcd pord
b. L(-D!pa Karmakar i Weightlifting L)
C. i 1ma‘ Das 111, Archery L)
d. 1¢Deepika Kumari 1v.  Athletics " RE}
@-Imﬁwﬂﬁ-ll%mw

)
\EXTE-1 (et Rarereh) -1 (Hafora G-z
2. T HES 1y i, fmferm vl °
b.  Hdr e T Ty

. T i, et v

d. et Fany iv. UYafeaq

Choose the most appropriate option from below:

ﬁmﬁ%uﬁmﬁmwwﬁﬁm Ty

(A) &-iV}Qiii’ C"'i, d'ii (B) El-iii b—iv . ﬁ P

(C) a-i Egi C-111, d-1v e _— N
’ ’ ; (D) a-ii, b-i, c-iv, é;;;‘i

(E) Que tion not attempted / ﬂgﬁ'ﬁ‘dﬁﬂ
128 India deliv red the first consi

_ gnment of ‘Brahmos Supersonic Crui N _
(A) Nepgg P ruise M{SS-,}IES to which country?

: (B) Bangladesh Tg
(C)  Philippines D) Bh ]
(E)  Question not attempted () Rian i
ST T e o e vt 2 i
A .
: (B) wiRYT
it )

(C) 4] (D) Y& tg
(E) 3rufta war ) Ve
129 Choos_e th&Inost appropriate English translation of the given sentence, ™
98 1 U e’ LY
(A) Why,she fS weeping? (B) Why is she w{gging?
(O) She‘mby IS weeping ? (D) Sheis weeping-why?

(E) Question not attempted

130  Choose the most appropriate reported form of the given sentence:
He said to fiin,”’Is your name not Robin?”’

L)
(A) He inquired whether his name was not Robin. O
(B) He aZE ed if the name was Robin, O

o

(C) He w that wasn’t his name Robin

(D)  He gsked if my name was Robin, : :'2
(E)  Queptipn not attempted Ty
131 Choose themost appropriate option to fill in the blank:; Lo
When my friend came to collect her books, I was a little embarrassed as
’ : arrass 1S |
books that | had borrowed. ftn only one out of the five
(A)  readig) (B)  will have readt
(C)  had réid (D)  haveread O
(E) Quesiion not attempted N
132 Choose the'most appropriate option to fill in the blank: 0
The police bificer stopped us and asked us where - i
(A) werewe g_oing (B) are we going
(C) we are going (D)  we were going
(E) Question not attempted
27
R15] $6
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13
Everyone knows the facts of the case very well.

e :
(A) The case is known to everyone very well.

(B) The facts of the case are very well known.
(C) Everyone is known to the facts of the case.
(D) Everyone knows the facts of the case.

(E) Question not attempted

134 The executive powers and functions of the Governor are:
a. All executive actions of the Government of a state are formally taken in his name.

3 Choose the most appropr iate passive construction of the sentence given:

b.  He cannot seek any information relating to the administration of the affairs of the state and

proposals for legislation from the Ministers.

C. He can make rules for more convenient transactions of the business of a State Government.

d.  He appoints the Chief Minister and other Ministers.

Choose the most appropriate answer from the options given below:
b, c and d only

(A) a,banddonly (B)
(C) a,canddonly (D)
(E) Question not attempted

TSI Y R TiiraT S e &-

a. U a@R A aft FdEr sdareat siu=nies 9 8 S 919 9T Srdl 2

b, a and c only

b. I8 TST & TIEA & GrI-ad hig HI STHRRT T I o T&ATE o IR § A1 & STHEHRT T8l 71

ehd 2l

c.  FEUSY UTHR o HIHHIS & IHereh GleToes Hara o forg Fam 59 wehd &

d. ﬁq@qﬁﬁtmqﬁﬁaﬁﬁﬁm%

EIERCLRILY Frere 1 4 7o IGH I El?r
(A) FAa,bIANd (B) Fadb,c3Rd
(C) Fada, c3MNd (D) A b,a 3R ¢
(E) SAJaiayd
135  Where is the Public Service Commission of Rajasthan located?
(A) Ajmer (B)
(C) Jodhpur (D) Alwar
(E)  Question not attempted
TSTELTE AT VAT ST Faf fega 87
(A) ST (B)

136  IaTde 52 U 1 faferfiag 3 @ van aref e 2.

(A) IHF (B)
©) ¥ (D)
() i w4

RI5] 38 28
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137 ﬁw%fﬁaﬁﬁﬁ*amam*WWWW%-- - Y
il (B)  3tfrer - a1
(C) <hur- feer |

(D) 9= - 3ifyy

(E) 1qaiauy

138 FTiad & Srqewaraes wdam 2.
(A) H (B) W
© 9 (D) 3
(E) 37aia wy

139 Six numbers are arranged in decreasing order. If the average of the first five numbers is 40 and the average
of the last five numbers is 30 then the difference of the first and the last number is:
T WIS 1 92 560 H ST 77y, A< Teelt ute gearstY @1 aitad 40 2 aik TR 9= Hemeiy &1 3iaa 30
& Al UEet 3R Rl weai o 3T 2
(A) 25 _(B) 50
C) 75 (D) 90
(E)  Question not attempted / TN T

140 A loss of 25% occurs on selling an article for ¥ 1,800. What would be the profit percent if the same article is
sold at ¥ 3,200?
T I IR 1,800 F a9 9T 25% =hl BT It 81 afs g0 Sy 31 2 3,200 T ST ST 8 d T 6 T 1 e
(A) 25% (B) 35%
©)  30% _) 3319
(E)  Question not attempted / JTTANT I

141

Which of the following statement is incorrect for a chemical change?
(A) A gas may be evolved.

(C) Sound may be produced.
(E) Question not attempted

T TETE e itad o fag e o & o ar s o a8 2
(A) U 9 3cafSid ol Gahd] 2l

(B)  SEHT e B Hehel & U] STaiiea it oft e By 29
(C) €afq 3= B gt 2
(D) @1 9ftada &1 gehdT 2l

(E) Iraf@yd

142 Honeybee culture is called-
(A) Silviculture
(C) Sericulture

(E)  Question not attempted

(B) Heat may be produced but never absorbed.
(D) A colour change may take place.

(B) Apiculture
(D) Lac culture

YAl 9Tt hl el ST 8-
(A) Toacdtret (B) Udises
(C) ThFeR (D) e () sHeaw
(B) SFaa 5
R15] 9 29
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143 The correct sequence of different steps of polymerase chain reaction is -

(A) Anncaling = Denaturation — Extension
(B) Denaturation — Extension —> Annealing

(C) Denaturation — Annc;}lli‘ng —> Extension

(D) Extension — Be!naturation —> Annealing )
(E)  Question not attémpted :g
“ : U . -
RIS P e T e ot o e e - ﬁ
(A)  TitetT — Rfer — L
* v
B) FiSEw — SR> et K
©) T — Wit — frew 2
D) Torer — Rftswr — s
(E) Irgaia wx 0 iy
0 ¥
. N
144 The Calligraphy of th&IEIindi version of the Indian Constitution was done by ok
(A) Vasant Krishad & aidya (B) Nand Lal Bose :ﬁ
C i
©)  AV. Thakkar |\ (D) H.C. Mukheriee L)
(E)  Question not attémpted ™
w—cﬁavﬁmq%f%—‘d’rﬁwwmgé@q ERRERIRI B
(A) TE=<FT T 1) L)
© o O ((E)) :16:2; ©
() oafawa O s O)
Ts! \0
1a _ v i
> Whois the present (ag" on 01 September, 2024) Chief Minister of Rajasthan? ol
(A) Bhajan Lal Shz-r}{na (B) Vas th 31.1- i
(C)  Ashok Gehlot S
| ke (D)  Bhairon Singh Shekh
(E) Question not Z{tgmpted © a‘YP‘
N 83 | O
Wﬁm aﬁtrmmg:?m, 2024 % &) s = \O
(€)M Tedy 'r;j D) A “? -
(E)  “rqaf gy ,: P l?l
\
146 When did :;hc Ponugppgc take over Goa? Ty’
f
ﬂfillli%idi 'ﬁ?lT'T{Nﬁa;r( k mﬁ?ﬂ'{? \O
(A) 1506 N O
(C) 1518 ‘0 B) 1510 o
(E) Question not a:-igm . il :ﬁ
o Pted / ST way L0
R15] 38 30 ¥
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(47 Which ministry launched the ‘Capacity Building on Design and Entrepreneurship (CBDE)’ program?
(A) Ministry of Finance '

(C) Ministry of Defence
(E) Question not attempted
ferar wrTeT 3 “fesTTe SR Safiar @ amar ftor (&t <ft €t g’
(A) Tau dEe
(C) &I HAT
(E) Sraia sy

(B)  Ministry of Education
(D) Ministry of Home Affairs

(B) Tme1r Warerg
(D) 8 WA

148 What is the theme of World TR Day-2024%
(A)  ‘Yes! We can end TB’

(B) ‘Investto End T.B save lives.’

(C) “Wanted: Leaders for a TB-free world’

(D)  “The Clock is Ticking’

(E)  Question not attempted

fer & <ft (aafeen) e 2024 w1 oft (et farwer) w22

(A) =1, 79 2 ot @en WaeRd B3 | &t 3 g A

B) & oft wew Y 35 for Frdver i, Sty s (g 2 s At v e

(C) =nfed: & =ft qe forer & v e (@ee: wfred B v it - 1y a9
(D) U I & 8 (3 T 39 i)

(E) AqaiawH
149  Keoladeo National Park is located in which place of Rajasthan?
(A) Barmer (B) Bharatpur
(C) Dholpur (D) Rajsamand
(E) Question not attempted
FAATd UL IAT T F forg T o R 2
(A) ETEHT (B) Wy
(C) HrgT (D) USHHT
(E) g y4
150 Which is the fastest train in India?
(A) Shatabdi Express (B)  Gatimaan Express
(C) Duronto Express (D) Vande Bharat Express
(E)  Question not attempted
I ht Ted ot ife <l 2 il ot 89
(A) YrdTsal TEEYY (B) Wi v
(C) I T (D) = 9 wrerde
(E) S1uia gy
R15| 98 31
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